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Adding with zero digits up to 100 #6

7340 = 21) 90+ 33 =
048 = 22) 7494 =
40 + 98 = 23) 34+ 60 =
90 + 52 = 24) 4+ 72 =
80 + 78 = 25) 50 +42 =
6+ 52 = 26) 50 + 89 =
6425 = 27) 1240 =
83 +6 = 28) 20 + 65 =
81 +40 = 29) 7455 =
40 4 75 = 30) 11+ 60 =
4477 = 31) 39+90 =
48 + 60 = 32) 17+ 70 =
80 + 66 = 33) 24+ 90 =
2+82 = 34) 1+85=
47T + 8 = 35) 3746 =
6+3= 36) 7645 =
124 50 = 37) 1147=
57T+ 0 = 38) 946 =
60 + 8 = 39) 0+24 =
57 + 60 = 40) 0+2=
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Adding with zero digits up to 100 #6 (Solutions)

B3+0="73
0+8=8

40 498 = 138
90 + 52 = 142
80 4 78 = 158
6+ 52 = 58
6+25=31
83+ 6 =89
81 +40 =121
40+ 75 =115
4477 =81
48 + 60 = 108
80 + 66 = 146
2+82 =84
4748 = 55
6+3=9

12 + 50 = 62
57+ 0 =57
60 + 8 = 68

57+ 60 = 117
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90 4+ 33 =123
7+94 =101
34 + 60 = 94
4+72 =76
50 442 = 92
50489 =139
12+0=12
20+ 65 = 85
7+ 55 =62
11+60="71
39490 =129
17+ 70 = 87
24490 =114
1485 =86
37 +6=43
6+5=81
11+7=18
9+6=15
0+24=24
0+2=2



